SIEER 852/F 6,000/ 2,200/ 3,200/ 3,000
SHEAIETERE 1,078/
5,000 1,700H 2,200/ 2,000
6BEAIETERE 884/%
SHEBIEER 504/
4,000M 1,200H 1,700H 1,500H
EER 6PEBIEERE 576/%
SHECIEER 294/%
3,000/ 700M 1,200M 1,000H
6BECIEERE 348/%
BEETFEREER 12f% 3,000 700M 1,200H 1,000
IINET 4,548[%
16 (78) 937/%
1B (3R) 829/%
1,000M 400M 400M 200M
2B (78) 1,094
20 (3R) 1,002%
IS 1 — R
3pE (78) 1,016/%
AN—bh2—b 3 () 1,272
1,200 600 600M 400M
AR (78) 1,038/%
4B (3R) 1,058/%
3 P& 426)%
AEBUTIVERERE 1,200M 600M 6009 400/
4 P& 532/%
INET 9,204/F
HEFEHEEH 13,752f%




